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OYlaiYlg sbasYi s duvaledt Bl gl

B~ gt Ay et

15 dxieo 3319t o)

(8) e B el

5/ 5131 6
10 7y 100 71 10x9 1=45—-1 =44
. (2) (0)_2I81 0171 2 - N
1oy BSALIBEBRAIR2RY 11 X 10
(o) _ 791 _ 75 _13
3 (11)_ 11! 11X 10 X9 %8 6
4 7141 4!

15 domdo (Sl dasygiy (fgdindt saiiielt

X €1(0,1,2,3)
%Y 1
P(X=0)=P(TTT):(E) - =
Lidubas s 1 3
P(X = 1) = P({HTT,THT, TTH}) = (-2-) +(.2-)1+ (53 Ll 3(5) -2
4 |P(X=2)=P{THH HHT HTH)) = 3 (5) -2
; R |
P(X:3):P(HHH):(E) ==
X 0 |1]2]3
T (3 |3 [1
PX=-013 |z lg ls
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Xe{0,1,23,4,5}
P(X = 0) = P(((1,1), (2,2),(3,3), (4,4), (5,5, (6,0)]) = 2= =

6
P(X=1)
= P({(1,2),(2,1),(2,3),(3,2),(3,4),(4,3),(4,5),(5,4),(5,6), (6,5)})
10 5
3 18
P(X=2)=pP{(1,3),(24),(3,5),(3,1),(46),(4,2),(53), (6, )}
8 2
36 9
6 1
P(X =3)=pP{(1,4),(2,5),(3,6),(4,1), (5 2) (6,3)}) -
1
P(X =4)=P{(1,5),(26), (5, 1) (6,2)}) = .
| 1
P(X =5)=P{(1,6),(6,1)}) = % =
X o] 1 |[2]3]4a] 5
P(X:x).l. > |2 [E (L |2
6 18 9 6 |9 ”18

oS -o() 1)) 1
1

ot - (o -0t () 2@ 2 (0 (3) - (3
3 4 9 121 16 121 7

“0tgtsts 6t 8 62 6t
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(il 23 gt gt Lyl

PX<H)=PX=D+PX=2)+PX=3)+P(X=4)
2 1 0

__1(7)3+_1(7) *_1(7) *_1(7) 0 414
"~ 8\8 8\8 8\8 8\8;,

PX>2)=1-PX<1)
—1-PX=1)

~1-3(3)
= 8\8
y

. . W
8§ 8

P3<X<5)=PX=3)+P(X=4)
3

LUIYL LY vl
" 8\8 8\8B/ [aF

1
PX<2)=P(X=1)=2=0.125

P(X>5)=1-P(X<4)~1-0.414 = 0.586

Pl<X<3)=P(X=2)

—1(7)1— 7 ~0.109
“8\8/ 64

PA<X<6)=P(X=5)+P(X=6)
5

] /7
-3(5) +5(g) ~0137

P2<X<4)=P(X=3)+P(X=4)

oo/ (7)2 41 (7)3 ~0.179
~8\8 g8\8/
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10 E@)—l—il— —=1,98
p 0.8 8
11 Ea)—l—t1—10
i)
12 E(X iy iatioral Cen /i 1.33
()_5"075 75 3
13 P(X =10) = (0.7)(0.3)? = 0.00001
PX=>2)=1-PX<1)

14 =1-PX=1)
=1-0.7(0.3)°=1-0.7=0.3

15 Mm—l— nal Ce 1.4

T pl R
1\ /32 9

16 IO S I o () (L ]

- () - gm0
PX>4)=1-P(X<4)

i == (PX=1) + PX=2)t PX =3) + P(X:=1))
~1-(33) +160) +13) +31() ) o2
al z\z) T21\z) Tz\z) T3\7) )

1
EX)=2=—-=2
p
1
18 o
=}>p 2
Px-1=2(3) -
= A ol v
PX>3)=1-P(X<3)
=1-(PX=1)+PX =2)+P(X=3))
19

B 11\ 1/1\' 1/1y°
—1‘(5(5) #3lz) *3lg) )
=1— (0.5 +0.25 + 0.125)
=1-0.875 = 0.125
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Dot (55 2y 1 GEY Lyl

20521528 2
P(X=18) = (13) (5) (g) ~ 8.075 x 10715

PX<3)=PX=0+PX=1+PX=2)+P(X=23)

-+ E D6 +G6 6

20 19 17

P1<X<3)=PX=2)+P(X=23)

(TG I -om

3 7

- () ) -oser

10 9 p A

PX>3)=1-PX<3)=1-(PX=0)+PX=1)+P(X = 2))
1 8
HE @ Q)0

(G

- ()E) @) e

502001 05 o B928)) J5 B30 3 Bogmr S 63 iy Y1 Sl 5e X o5
— X~B(20,0.25)
20
P(X =3) = ( " )(0.25)3(0.75)17 ~ 0.134

PX>23)=1-PX<3)=1-(PX=0)+PX=1)+P(X =2))

=1- ((200) (0.25)°(0.75)*° + (210) (0.25)1(0.75)"° + (220) (0.25)%(0. 75)18)

= (.025
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20
P(X=20) = (20) (0.25)2°9(0.75)° ~ 9.09495 x 10713

9

10 E(X)=np =20(0.25) =5
E(X)=np =40(0.2) =8

H Var(X) =ap(1—-p) =40(0.2)(0.8) = 6.4
E(X)=np = 280(0.4) = 112

- Var(X) =np(1—p) = 280(0.4)(0.6) = 67.2
E(X)=np =48 (%) =8

13
Var(X) =np(1—-p) =48 (%) (%) ~ 6.67

12000 2 ¢ o (555l pubiaalt (el i X (S
14 = X~B(12000,0.09)

E(X) = np = 12000(0.09) = 1080
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1 50% (» st lawght 398 pglighl adl (adlt dullall dogialt At
(Gbaa Bt de ot Jawglt g egltglol o dadt 3 Y (it Atlall B ghedt Gl
2
68% (p =g
&Y Ao b3 Y der lwdt lawght e pglight 85 ol ddlall & ghalt et
g 4 :
47.5% (p dylna il
B de DY sdder luodt Jawgh (e eglighl &5 (ol ddiall & gialt dudlt
4 : :
97.35% (& omsbeme oot (e g Y shikes dude WS b dyybuna U8l
5 X~N(21,1.5%)
. W 9 bl Gl Jawglh slalt eaiiusdt Jg> MWlaie 0350 (amdalt aigidt (socio
daelsdt pdl 3how Y S
5SS ASIN Aasitlh g) Ulgially Jarwglly Jawglh OF ¢ udalt aigidt (sowie oty (o
7 b Ghoey Y JSLdh s Lk ¢ olibdt Jauwgily Aisliaie IS (souiadt 3 Aads Jef ]
Aol
8 P(X>8)~0.5
P(7.8<X<8.2)=P(8-(0.2) <X <8+(0.2))
9
=Pp—o<X<pu+o)~0.68
10 PX>84)=P(X>8+2(0.2))=PX>pu+20)~0.025
=25
11
pt+20=2"T=25%20=2.T— 0=10.1
1
12 P25 X 2.7) :5(95%) =47.5%
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P(Z <1.42) = 0.9222

2 P(Z < 0.87) = 0.8078
3 P(Z>1.06)=1—-P(Z<1.06)=1-0.8554 = 0.1446
4 P(Z<-278)=1-P(Z<2.78)=1-0.9973 = 0.0027
5 P(Z >-1.33) = P(Z < 1.33) = 0.9082
; P(1.1<Z<21)=PZ<2.1)-P(Z<11)
=0.9821 — 0.8643 = 0.1178

P(-2.65 < Z < -1.43) = P(Z < —1.43) — P(Z < —2.65)
7 =1-P(Z<1.43)— (1 - P(Z < 2.65))

=1-0.9236 — (1 - 0.9960) = 0.0734
s P(0.24<Z<1.1)=P(Z<1.1)—P(Z <0.24)

= 0.8643 — 0.5948 = 0.2695

3 P(Z<-0.54)=1-P(Z<0.54)=1-0.7054 = 0.2946

P(-1.8<Z<1.8)=P(Z<1.8)-P(Z<-1.8)
10 = P(Z<1.8)-(1-P(Z<18))=2P(Z<1.8)-1

= 2(0.9641) — 1 = 0.9282

11 P(Z<-1.75)=1-P(Z < 1.75) =1-0.9599 = 0.0401
12 P(Z>081)=1-P(Z<0.81)=1-0.7910 = 0.2080

P(-1<Z<—0.33) = P(Z < —-0.33) - P(Z < —-1)
13 =1-P(Z<0.33)- (1-P(Z <1))

=1-0.6293 — (1 - 0.8413) = 0.2120
iy P0.4<Z<1.7)=PZ<1.7)—P(Z<0.4)

= 0.9554 — 0.6554 = 0.3000

15 P(Z>209=1-P(Z<2.09)=1-0.9817 = 0.0183
16 PO0<Z<1.2)=P(Z<1.2)-P(Z<0)=0.8849—-0.5=0.3849
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P(-0.5<Z<1.5)=P(Z<1.5)-P(Z<-0.5)

17 =P(Z<1.5)—- (1-P(Z < 0.5))
=0.9332 — (1 — 0.6914) = 0.6246
18 P(Z>1.6)=1-P(Z<1.6)=1-0.9452 = 0.0548
P(—0.88< Z <1.65) = P(Z < 1.65)— P(Z < —0.88)
19 = P(Z < 1.65) — (1 - P(Z < 0.88))
=0.9505 - (1 — 0.8106) = 0.7611
P(Z < a)=10.9082
22393 Gowin Jhud o Dojbumolt Aanllf jlug 285 (231 A Luvolt Jioy (Janalt Jloi>Yt
‘@.‘H‘h‘“
it S @ity cdurgo @ dasd OF (G 10 ¢ 0.5 (o ST Jlaidh daid O Loy
20 g2 Z Aot
P(Z<a)=P(Z<2Z)
— 0.9082 = P(Z < z)
=5 =133
= a = 1.3
P(Z <a)=0.0314
239 Goeia i g Qojbaalt Aasilt g alS (J dlunalt Jiay (Janalt Jlai>Yt
‘@.‘H‘h'”
Laatlt Jidt (ySan ailg Al o Aand OF (G 13g8 ¢ 0. 5 o JBF Jlei>Y1 A O Ly
-z
21 P(Z<a.):P(Z<—Z)

= 0.0314 = P(Z < —-2)
= 0.0314=1-P(Z < 2)
P(Z<z)=1-0.0314
P(Z <z)=10.9686

— z=1.86

— a=-1.86
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P(Z>a)=0.95
a2t govin S o oybmalt Aandlh yren adis (1 A Luadt fiay (Jamalt Jlai>Yt

.@ﬁ.h.“
gt Jiiant (53 il v @ Bad O (ging Wigh ¢ 0. 5 oo ST Jboind) asd 0 Loy
-z
22 P(Z>a)=P(Z>—-2)
= 0.95=P(Z > -2)
— 0.95 = P(Z < 7)
— P(Z<Z)=10.95
— z=1.64
— a = -1.64
P(Z < a) =0.5442
(Fedalt a3 gt aovia S @ daudll sl ads (J1 ALt oy (Jamalt Jlai>dt
it o8 ailg o go @ das3 O G 1g8 ¢ 0.5 (o ST Jlai &8 0 Loy
23 P(Z<a)=P(Z<2z) g Z daxdtlt
— 0.5442 = P(Z < z)
= z=0.11
—a=0.11
P(Z >a) =0.2743
cgudalt gt aowie Jhud o Al s a5 (B ALt ey (Jrnalt Jlaisdl
oxll Jliast (S il ez ge @ dasd Of G 1igh ¢ 0.5 oo ST Jlai>1 dosd O Loy
wz
P(Z >a) =P(Z>2)
24 = 0.2743 = P(Z > z)

— 0.2743 =1 - P(Z < 2)
= P(Z<z)=1-0.2743
= P(Z &z =-Ni7257
—z=0.6

—a=0.6
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25

P(Z >a)=0.6231
cFedalt agilt aomia Jaud @ dasdlt (e ads (1 A Ludt fia (Janalt Jlai>t
Aanlh Jidlt (a3 iy Al @ 208 OF (g 1g8 ¢ 0.5 (o ST Jlei> &S O Loy
g —z
P(Z>a)=P(Z>-2)
= 0.6231 = P(Z > —z)
= 0.6231=P(Z < 2)
= P(Z<z)=0.6231
=z =10.31
= a=-0.31

26

P(1<Z<c)=10.1408
P(Z <c)—P(Z<1)=0.1408
P(Z <¢)—0.8413 = 0.1408
P(Z <¢)=0.9821
(Feadalt a3 gt (aovia i € Aol jluw adS (1 A Luadt Fiay (Janalt Jlai>t
Bl it 55 4Ty clucr g0 € B O im 1igd ¢ 0. 5 30 ST JLai>d) dash 0 Loy
©wz
P(Z < ¢)—=P{Z-<Z)
— 0.9821 = P(Z < 2)
= Z = 21
= = 251
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Jghomt Jlasiants adalt gdialt pasalt Jlasismt 1 ualselt uylt

ZzZ =

~81-89 16

11s&ibnl 28
92 -89 6
2 W | | scowenil
115 ;23
100 -89 22
3 7 = —— —
11.5 23
8 [EoR2 s i
10
B — 229 il plliG pll
10
6 MRl Matignal Conter
10
25 8—17

7 |PXx<25.8)=P(z <=

— P(Z < 0.88) = 0.8106
, 0.5 — 17
P(X>10.5):P<Z>—-—)
£ 10
=P(Z > —-0.65)
— P(Z < 0.65) = 0.7422
~ /19.4-17 30.2 — 17
P(19.4<X<30.2)—P(T<Z<T)
9 = P(0.24 < Z < 1.32)
= P(Z < 1.32) — P(Z < 0.24)
= 0.9066 — 0.5948 = 0.3118
4257 o7
P(4<X<17):P( — <Z<T)

% =P(-1.3<Z<0)
—P(Z<0)-P(Z< -1.3)
=0.5-(1-P(Z < 1.3))
= 0.5 — (1 —0.9032) = 0.4032

22.02 — 20

i

P(X <22.02)=P (z <

- ) = P(Z < 0.67) = 0.7486
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20.76 — 20)

P(X>20.76):P(Z> -
12 =P(Z >10.25)
—1— P(Z < 0.25)

=1-0.5987 = 0.4013

175 = 185)

P(X>175):P(Z> -
13 =P(Z >-2)
— P(Z <2)

=0.9772

180—185<Z<190—185
5 )
=P(-1<Z<1)

14 =P(Z<1)-P(Z<-1)
=P(Z<1)-(1-P(Z < 1))

P(180 < X < 190) = P(

—2P(Z<1)-1
— 2(0.8413) — 1 = 0.6826

195 — 185
P(X > 195) = P(Z > T)
= P(Z> 2)

~ 1-0.9772 = 0.0228
N = 0.0228 X 2000 = 45.6 ~ 46

46 35 L5 2000 ow oo 195 e (Ao pgdlghl W35 (it oue S (o808 Salt co3)
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